N
S

H
e
iy
il
i

T h
AV == & =2 = =2 == 53 =z ENd
SEE SHEET 3 OF 5 FOR APPROACH
70 LAYOUT AT THIS LOCATION ONLY
SW & NE CORNER g5 — . (WEST SIDE)
10 SPACES @ 8’-1" =80'-10" 4 -6
P
88 “32
1234
92'-33
PAY LIMIT ITEM 525.335 = 92 L.F. A
21'—58?\\@ 29r-ads 2311}
19-58" ;
EXP. SPLICES EXP. SPLICES
F :\ lJ o+ I ; ; } ; ; ; ; ; }
H 1T 1T | T T |}I !}I I}I I}I Il'l I}I I I}I I}I I]'I i 1] 1] ?

= =

SEE DETAIL ON
SHEET 4

BILL OF MATERIAL — BRIDGE NO. 25 (EAST & WEST SIDE)

BRIDGE NO. 25

WEST RAIL ELEVATION

LOOKING AT FACE OF RAIL FROM CENTER OF ROAD

EAST RAIL ELEVATION SIMILAR LOOKING FROM CENTER OF ROAD

ALL APPROACHES TYPICAL EXCEPT AT NW CORNER (SEE SHEET 3 OF 5)

ITEM 525.335 3 RAIL BOX BEAM BRIDGE RAILING(EAST & WEST) = 184 L.F.

Qty mk Description Spec.
24 PED POST W6x25 2-9.000" OAH (GALV) w/[1.250" x 10" x 14" B.P AS572 gr 50
12 FIXED SPLICE TUBE (6x6) GALV TS 5x5x5[16 x 2-3" OAL w/ (3) 1/4" fill plates A500 gr B
8 EXP SPLICE TUBE (6x6) GALV TS 5x5x5/1p x 3-0" OAL w/ (3) 1/4" fill plates A500 gr B
6 FIXED SPLICE BAR (5x3) GALV 2.125 x x 27.00" A500 gr B
4 EXPANSION SPLICE BAR (5x3) GALM(2.25) 4.25 x 36.00 A500 gr B
24 BRIDGE RAIL SHELF ANGLE (GALV) L5X 5x 5/8 x 6" LONG A572 gr 50
4 B1 |[TUBE6x6x3/16 x 21f-5625in LG (GALV) fixed splice 1 end, exp splice 1 end A500 gr B
4 B2 |TUBE6x6x3/16 x 291 -3.500in LG (GALV) fixed splice both ends A500 gr B
4 B3 |TUBE6x6x3/16 x 23f-11.500in LG (GALV) fixed splice both ends AS500 gr B
4 B4 |TUBE6x6x3/16 x 21f-1.313in LG (GALV) fixed splice 1 end, exp splice 1 end AS00 gr B
2 B5 [TUBE5x3x 1/4 x 19 -5.625in LG (GALV) fixed splice 1 end, exp splice 1 end A500 gr B
2 B2 |[TUBES5x3x1/4 x 29ft-3.500in LG (GALV) fixed splice both ends A500 gr B
2 B3 |TUBES5x3x 1/4 x 23ft-11.500in LG (GALV) fixed splice both ends A500 gr B
2 B6 |[TUBES5x3x1/4 x 19ft-1.313in LG (GALV) fixed splice 1 end, exp splice 1 end A500 gr B
3 LOWER FLAREBACK TUBE 5 x 3 x 1/4 x 9-4" oal w/welded cap (GALV) mitered w/exp. slots 1 end A500 grB
1 LOWER FLAREBACK TUBE 5 x 3 x 1/4 x 9-4" oal w/welded cap (GALV) c&w + mitered w/exp. slots 1 end A500 gr B
24 ANCHOR PLATE (GALV) PL 3/8" x 10.000" X 14.000" A36 ——|A572 gr 50 |
24 BEARING PAD 1/8" x 10.000" x 14.000" ZDURO 80 >
9% THREADED STUD (2 1/4" THREAD EACH SIDE) 1.000-08 x 13.000 HDG A449 A449
192 NUT HEXHEAVY (2) H-STRENGTH 1.000-08 GALV A563 DH ADD
192 WASHER ROUND SMALL (2) F436 1.000 SAE GALV F436
96 JAM NUT (1) 1.000-08 GALV AS563 DH DELINEATORS
112 7/8 x 8 slotted head bolt w/ HN & LW SQW A449 TO MATERIAL
24 3/4 x 8 hex bolt w/ HN & LW (A325) A325 LIST EVEN IF
48 3/4 x 2.5 hex bolt w/ HN & LW (A325) A325
40 304 x 4.5 hex_bolt w/ HN & 2 FW (A325) A325 PROVIDED BY Sed_ber_soprover 21
80 3/4 x 7.5 hex bolt w/ HN & 2 FW (A325) A325 lW OTH ERS — Remarks Dale

— REVISIONS

Vermont Agency of Transportation

RECEIVED

CK'D BY KFWL OK'D BY JS
January 2, 2014

RESUBMIT YES Rejected

BY KH DATE 1-17-2014

HIGHWAY SAFETY CORP

GLASTONBURY, CT
860—-633-9445

ITEM 525.335 3—RAIL BOX BEAM

TOWN OF BARNARD >8CERTIFIED‘

COUNTY OF WINDSOR << FABRICATOR

VT ROUTE B1R2 — MAJOR COLLECTOR

. 25
PROJECT NO. ER BRF 0241(39) [wwaw

s w0, |
SN | AFAYETTE | 7 of 5

o ewl | ale [P 11-19-13 [ N [7F p



jsalvatori
Callout
A572 gr 50

jsalvatori
Callout
SEE DETAIL ON SHEET 4

jsalvatori
Oval

jsalvatori
Callout
ADD DELINEATORS TO MATERIAL LIST EVEN IF PROVIDED BY OTHERS

jsalvatori
StructuresShopDrawing

jsalvatori
Oval


CL OF BRIDGE POST

PAY LIMIT 621,725 FOR GUARDRAIL APPROACH SECTION, GALVANIZED 3 RAIL BOX BEAM

2'-0"

6'—0”

8/-0*

18’-0"

HSS8x6"x3*
GALVANIZED
BLOCKOUT

HSS6x6xf% GALVANIZED BOX BEAM
TOP AND MIDDLE RI?IL (SLOPED>

HSS5x3x}” GALVANIZED BOX BEAM

BOTTOM OF RAIL (TERMINATE AS SHOWN)

P
________ SET AND HOLD N
THIS ANGLE |
— T 15°
. ] ———— X f b e X b e ,
T T T T \ P T I =T =T I =T T
P Te e e e T T - lo of lo o} lo o] lo ] lo ol lo ol -+ d

TOP, MIDDLE & BOTTOM BOX BEAMS

/

NOT BOLTED TO BLOCKOUTS (THIS POST)

TOP & MIDDLE BOX BEAMS NOT

BOLTED TO BLOCKOUTS (THIS POST

PAY LIMIT FOR BRIDGE RAILING,

GALVANIZED 3 RAIL BOX BEAM

6” CL. W6x85 HEAVY POST TO
BEGIN BOTTOM OF RAIL FLARE BACK

S RAIL BOX BEAM PLAN

THE COST OF THIS POST TO BE
INCLUDED IN THE UNIT PRICE BID FOR
VIEW GUARDRAIL APPROACH SECTION ITEM

PAY LIMIT FOR GUARDRAIL APPROACH SECTION, GALVANIZED 3 RAIL BOX BEAM

——FACE OF RAIL

PAY LIMIT FOR BOX
BEAM GUARDRAIL

(3> SPACES @ 2'-0" = 6'-0"

(4> SPACES e 2’-0" = 8'-0"

(6> SPACES @ 3'-0" = 18'-0"

(4) W6x85 HEAVY POST

(4> S3x5.7 TRANSITION POST (7°-0>

6> S3x5,7 STANDARD POSTS (5'-3“> & (2> S3x5.7 STANDARD POSTS FOR FLARE BACK (3'-87

or—gr

CL. OF BRIDGE POST 20 CL. OF FIRST HEAVY POST HSS6x6x% GALVANIZED BOX BEAM (SEE STANDARD G1-B FOR POST DETAILS)
SLOPED TO HIGHWAY MOUNTING HEIGHT .
CL. OF EXPANSION SPLICE ASSEMBLY BL | CL. OF FIXED SPLICE 8 CL. OF TURN BACK SPLICE
(BOTTOM RAIL) ASSEMBLY, BEGIN RA ASSEMBLY (TOP RAIL) ASSEMBLY (MIDDLE RAIL)
P O BRIDEE SLOPE TRANSITION | | HSS5x3x} GALVANIZED BOX BEAM .
BOTTOM DOF RAIL (TERMINATE AS SHOWN) )3
RAILING N | /- | I9 TURN BACK & DOWN MIDDLE RAIL
| ° NI T3 1 | = SEE PLAN ABOVE FOR LOCATION
i T/ -
— [] A IMERIH \ )
L e e ] J
| T - T 7177 / + e e = - i T I
B 2 [ [T7 ] 7 ) | E—
[ [p— = ety el - || L ] L. . I —
= [ oo - - - I} T T o1 | = L = ]
] Al /] * ; N —

TOP OF ROADWAY J

SURFACE

L]

L0

L]

SHELF ANGLE L5x33xg LLHx*

4% LONG SEE STANDARD Gi-B
(4 TOTAL) FOR POST CONNECTION DETALLS

BILL OF MATERIAL — APPROACH

T T E— T Spae”
3 6 X6 BXBM TOP @ 20-9.5" EXP AS00 gr B
3 6 X6 BXBM BOTT @ 21'-5" EXP A500 gr B
1 6 X6 BXBM TOP @ 20-9.5" EXP C&W A500 gr B
1 6 X6 BXBM BOTT @ 21-5" EXP C&W AS00 gr B
16 W6 X8.5 POST @ 7-0" W/SPADE A992/A709 GR.50
16 3" | POST @ 7-0" W/2-8"' SPADE 3
24 3" | POST @ 5-3" W/SPADE STD
8 3" | POST @ 3-11" W/SPADE
32 TUBE BLOCKOUT 6" X8" X6" LONG AS00 gr B
12 TUBE BLOCKOUT 6" X 8" X3" LONG AS500 gr B
3 9' BXBM TRANS FLAREBACK END AS00 gr B
1 9 BXBM TRANS FLAREBACK END (C&W) AS00 gr B
4 5 X5 DOUBLE BEND SPLICE TUBE A500 gr B
4 5 X5 FIXED TUBE SPLICE 27" A500 gr B
68 BOXBEAM CLIP ANGLE STD A36
4 BOXBEAM END ANGLE STD A36
32 3/4 X8 CARR BOLT - N FW LW (2 per heavy post) A307
4 3/4 X8 HEXBOLT - N 2FW (1 per 9-0" flareback) A307
72 1/2 X1 1/2 HEXBOLT - N FW (1 per shelf / end angle) A307
80 1/2 X1 1/2 HEXBOLT - N 2FW LW (2 per tube block) A307
72 3/8 X7 1/2 HEXBOLT - N 2FW (1 per shelf angle) A307
48 3/4 x 7 1/2 HEXBOLT W/ HN & 2 FW (A325) (4 per 6x6 splice) A325
8 3/4 x 7 1/2 HEXBOLT W/HN & 2 FW & LW (A325) (2 per angled turnback splice) A325

Uy Ul

L:| [j
HOLES IN THE POST FOR THE

MIDDLE RAIL SHELF ANGLE MAY
BE FIELD DRILLED (TYP>

]

or—37
HIGHWAY RAIL
MOUNTING HEIGHT

9’ MEASSURED FROM THE ELEVATIDON
OF THE GROUND AT THE END OF THE
FLARED BACK SECTION OF TUBE.

S RAIL BOX BEAM ELEVATION ANGLE. CHNNECTIEN Nar Y

ANGLE CONNECTION NOT
SE cO REQUIRED (THIS POST>, POST
RNER SHOWN/SW & NE SIMILAR BUT OPPOSITE HAND TO ANGLE CONNECTION IS
SEE SHEET 3 OF S FOR LAYOUT OF NW CORNER REQUIRED

Cﬁ_gé}:—|A572 gr 50 |

ADD
DELINEATORS
TO MATERIAL
LIST EVEN IF
PROVIDED BY
OTHERS

ITEM 621.725 GUARDRAIL APPR. SECTION 3 RAIL = 4 EA.

Vermont Agency of Transportation

RECEIVED

CK'D BY KFMWL OK'D BY JS
January 2, 2014

REsuBmIT YES Rejected

BY KH DATE 1-17-2014

HIGHWAY SAFETY CORP

GLASTONBURY, CT
860-633-9445
ITEM 621.725 APPROACH SECTION

TOWN OF BARNARD S CERTIFIED]
COUNTY OF WINDSOR < FABRICATOR

VT ROUTE 12 — MAJOR COLLECTOR
BRIDGE NO. 25

0.
PROJECT NO. ER BRF 0241(39) e o8 e

@ 1966

e
7 SN ) AFAYETTE | 2 of 5
DRAWN

RWL ™=@ [ 11-20-13 [ NN [*= p



jsalvatori
Line

jsalvatori
Line

jsalvatori
Oval

jsalvatori
Callout
A572 gr 50

jsalvatori
Callout
ADD DELINEATORS TO MATERIAL LIST EVEN IF PROVIDED BY OTHERS

jsalvatori
StructuresShopDrawing


W-VGWBCK
TYP. FOR MITERED TUBES

PAY LIMIT FOR BRIDGE RAILING,
GALVANIZED 3 RAIL BOX BEAM

a b

WEST SIDE APPROACH RAIL
AT RIGHT END (621,725

S RAIL BOX BEAM PLAN '
WEST SIDE APPROACH ONLY (1 LOCATION— NW CORNER)
SEE SHEET 2 OF 4 FOR ADDITIONAL

INFORMATION

HSS6x6x{ GALVANIZED BOX BEAM
TOP AND MIDDLE RAIL (SLOPED>
.

\

HSSSx3x4* BOTTOM OF RAIL C&W \
(TERMINATE AS SHOWN) ,

40"

1

-
\

T\
0‘—_-
g

" :*

—

1,

3'~g~

S'~g~
© of

Vermont Agency of Transportation

RECEIVED

CK'D BY KFWL OK'D BY JS

January 2, 2014

REsSuBMIT YES

Rejected
BY KH

DATE 1-17-2014

GLASTONBURY, CT
860-633-9445

HIGHWAY SAFETY CORP

ITEM 621.725 APPROACH SECTION
TOWN OF BARNARD

VT ROUTE 12 - MAJOR COLLECTOR
BRIDGE NO

SCERTIFIED]
COUNTY OF WINDSOR )"’

<< FABRICATOR|

NO. 25
PROJECT NO. ER BRF 0241(39)
GENERAL CONTRACTOR

(HSC JOB NO.

SUB CONTRACTOR

LAFAYETTE

DRAWN

RWL

1966

|SHEET Wo. |

| CHECKED

[ 11-20-13 [ NONE

|srzz

3 of 5

D



jsalvatori
Line

jsalvatori
Line

jsalvatori
Oval

jsalvatori
StructuresShopDrawing


3-0 30" SPLICE TUBE 23
" 2'—3" SPLICE TUBE
Jrxarxi-11 4, 6 1'-3" 6 4 23" o o & 2] Ea——
FILLER PLATE . . e g Jrx4rx2i-2" e 4 4
. ~ 3 avp) 6" %2 ,4 % 6 « OF 1°x4° SLOTS FILLER PLATE 3" (vp) "
HSS 5x5xg —+= IN TOP & BOTTOM — 4 . HEAVY HEX NUT
GALVANIZED L OF HSS 6x6x HSS 5xSxg@ 2{" THREAD AHD WASHER CTYP>
e — - —— — — 3 . GALVANIZED .
¥® HOLES FOR ) L . L GHOLES FOR _ BN s =
¢ BOLTS (TYP N © i‘ﬂaBDLTS ayp> s : 6—0 Q ? 1%
TYP EACH HSS SXSXE'% . N HSS 6x6xf POST BASE
FILLER PLATE o EXPANSION e FLLER PLATE TPES FIXED SPLICE TUBE 1o BoLTS SEE A
TOP VIEW SPLICE TUBE TOP VIEW TOP VIEW TOP VIEW NOTE 13 (TYP) N __HEX JamMB NUT
SEE NOTE 12 SEE NDTE 12 = Y EN (TYP>
HEAVY HEX NUT
<17 DIA TYP)
THREADED ANCHOR PLATE
. of o STUDS
L 1 1 1 S !E yEw
I I R = N i
*¢ HOLES THROUG = »
Tab & BTG OF ToBE | ] I I HSS Exixi) lIE RAILING POST ANCHORAGE
& BOTTOM FILLER PLATE —— © &' HOLES THROUGH.
TOP & BOTTOM OF
R B === TUBE AND BOTTOM i 1l i il
Jrxarxar-11" Ly FILLER PLATE S g il il i
1] 1] 1] hi = A I
FILLER PLATE 4 oo mooom 14 Y2 o i
SEE NOTE 1 . J FILLER PLATE FIxED
"x4°x1'~8* BOTTOM
TYP EncH FILLER PLATE HSS Extxid SIDE_VIEW FILLER PLATE  TP2%8 a2+ BOTTOM SPLICE TUBE SIDE VIEW
FILLER PLATE/§72-10 SPLICE TUBE SIDE VIEW  FILLER PLATE FIXED SPLICE ASSEMBLY
SIDE VIEW EXPANSION SPLICE TUBE ASSEMBLY HARS SELLL ASSIMELL
P TTp— FIXED SPLICE TUBE
EXPANSION SPLICE TUBE
» 2'-3" ' m
3 3'-0" SPLICE BAR 2'—3" SPLICE BAR CL OF EXPANSION
2 x 4§ x3'-0 - _— - . . i " LY Ca—— CL OF FIXED—] SPLICE ASSEMBLY
GALVANIZED BAR 4 g -3 & | 4 o A 4 A COF 1x4* SLOTS o 9 S S 5 SPLICE ASSEMBLY (IF REQUIRED)
A\ IN TOP & BOTTOM i Ei
-'asg DF HSS 5x3x} -'g%
. 7 d. . S
# -—7)-— - —_— — — ‘i’:" ¥@D (o=} C‘? C‘?J S ?I - - ——— & — & %‘“ (o] [0} ] Q @) =\ :,,I
¥'¢ HOLES FOR
 BOLTS (TYP> HSS Sxaxi HSS 5x3xiJ
EXPANSION 9 BOLTS SEE &' HOLES FOR 24'x4§x2'-3" FIXED 3¢ BOLTS SEE
SPLICE BAR NOTE 13 ¢TYP) 3¢ BOLTS (TYP) GALVANIZED BAR SPLICE TUBE NOTE 13 (TYP>
TOP VIEW SEE NOTE 12 JOP VIEW TOP VIEW SEE NOTE 12 TOP VIEW
& o & P— - — — — -—J——JL————\-»
« §'¢ HOLES | | | | 7 | | | | | 4%. 4%. i
THROUGH BAR EXP SPLICE BAR — | SET ® 4" @ 68F ¢ g0 HOLES
! ! — ! ! e, S s e o sk T T T FIXED SPLICE EXPANSION SPLICE
I | A ] ==
L | | lil \ lil lil | | { ) 1 1
'N’ III III III §§ tﬁ ’ | $ LU \ III I|l | I
r I’I III I‘I
Lo A RAILING SPLICE DETAIL ELEVATION
X A¥xa -0 SEE NOTE 12 HSS 5 x 3 x 1/4 TUBE HSS 5x3x}
GALVANIZED BAR 2frxayrxa’-=3" SEE NOTE 12 FIXED A RAILING EXPANSION SPLICE IS REQUIRED IN ANY POST
GALVANIZED BAR SPLICE TUBE SPACING THAT CONTAINS A SUPERSTRUCTURE EXPANSION JOINT.
SIDE VIEW SIDE_VIEW SIDE_VIEW SIDE_VIEW
EXPANSION SPLICE BAR
e EXPANSION SPLICE ASSEMBLY FIXED SPLICE BAR

FIXED SPLICE ASSEMBLY

4%-

’i!e,
NOTES: \—}° CHAMFER

ON ALL EDGES
TYP)

1. ALL WORK AND MATERIALS SHALL CONFORM TO SECTION 525. SECTION A (A
2. PRIOR TO GALVANIZING THE ASSEMBLED POST, GRIND ALL EDGES TOA MINIMUM RADIUS OF " s
3. ALL POSTS SHALL BE SET NORMAL TO GRADE. THE MAXIMUM CENTER TO CENTER SPACING OF BRIDGE RAIL POSTS IS 8'-3".
4. SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TWO BRIDGE POST AND PREFERABLY TO AT LEAST 4 POSTS.
5. RAIL TUBE EXPANSION JOINTS SHALL BE PROVIDED IN ANY RAIL BAY SPANNING THE END OF AN INTEGRAL ABUTMENT BRIDGE AND AT
ALL SUPERSTUCTURE EXPANSION JOINTS. EXPANSION JOINT WIDTH SHALL BE 4" @ 68'F AND WILL BE ADJUSTED IN THE FIELD BY
THE ENGINEER FOR OTHER TEMPERATURES. NOTES: HIGHWAY SAFETY CORP
12. PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT .
6. HOLES IN RAILS FOR TUBE ATTACHMENT MAY BE FIELD-DRILLED. HOLES SHALL BE COATED WITH AN APPROVED ZINC—RICH PAINT PERMITTED ON THE ADJOINING SURFACES OF THE BOX BEAM Vermont Agency of Transportation
GLASTONBURY, CT
PRIOR TO INSTALLATION. RAILS, SPLICE TUBES AND FILL PLATES. B60—633—8445
7. BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT—-LB). 13. FOUR (4)3" DIAMETER BOLTS, 73" LONG WITH TWO (2) WASHERS R E c EI v E D
8. SEE STANDARD DRAWING G—1B FOR DETAILS OF DELINEARTORS. A DELINEATOR SHALL BE INSTALLED AT 30 FOOT SPACING FOR THE NS HEAVE HEX NUT ON EACH BOLT. NUT TO BE FINGER TIGHT KEAWL BRIDGE RAIL DETAILS 525.335 & 621.725 |SaeremErs
NEAREST POST. WHITE IS TO BE INSTALLED ON THE DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE INSTALLED ON TEH PREVENT Dl ODOMAD BELOW The T T0 BE BURRED T0 CK'D BY OK'D BY S TOWN OF BARNARD, COUNTY OF WINDSOR [ )@/, poiniton
DRIVER'S LEFT. PAYMENT SHALL BE INCIDENTAL TO OTHER ITEMS. : (4) BOLTS AT EACH SPLICE. VT ROUTE 12 — MAJOR COLLECTOR
9. ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT ACCORDING TOA PROCEDURE PROVIDED BY THE FABRICATOR. January 2, 2014 PROJECTBI:IIgGEERN%R '__250241 (0 ——
10. THE MIMIMUM DISTANCE FROM THE POST TO AN EXPANSION JOINT SHALL BE DETERMINED BY THE MINIMUM EDGE DISTANCE OF 5 YES Rejected et . ) 1966
FROM ANY ANCHORS STUD TO THE END OF THE SLAB, OR TO THE EXPANSION JOINT RECESS POUR, IF ONE IS USED. RESUBMIT | b —
11. THIS RAILING MEETS THE REQUIREMENTS FOR A TL—4 SERVICE LEVEL. BY KH DATE 1-17-2014 S SR ) FAYETTE | 4 of 5
DRAWN CHECKED DATE SCALE SzZE
RWL l l 11/20/13 | NONE | D



jsalvatori
StructuresShopDrawing


g
HSS 6x6 BOX g
BEAM RAIL
//\
2278
7 PA
7 % SEE PLAN FOR TURN
T < BACK DISTANCE, SET
w L 4r 1 % ANGLE ACCORDINGLY
IS ab_—_F_J
/ RO %’ HOLE TOP & BOTTOM DF BOX
HSS 5x5 7 BEAM FOR §'¢x74° LONG BOLTS
TURN BACK W/ HEAVY HEX NUT & (2> STANDARD
SPLICE TUBE WASHERS (1 TOP & BOTTOM) AND
TOP VIEW 1> SPRING LOCK WASHER. (TYP)

TURN BACK SPLICE TUBE ASSEMBLY

§'x4°x9%° FILL
PLATE GALV. (TYP)

TYP EACH

FILLER PLATE / 3/8

HSS 5x5xf
GALVANIZED
SPLICE TUBE

w—VGWBCK>—Q—@/

G

TYPE EACH
FILLER PLATE/ 3/8
W-VGWBCK

2

2

S
/%, %
B
v & /N
_____ A
r# WP
thozizm ! ;
A

TOP VIEW

1'=2"

7.
O+

SIDE VIEW

G

TURN BACK SPLICE TUBE DETAIL

TURN BACK & TURN TUBE JOINT

3" L5x5x§ HOLES FOR
¢ BOLTS
.
CIT g 1% 0 ]
j/l 3 " G’g
HOLES FOR 1
3¢ BOLTS -
L i
3 | 3
11/2" 3" | h1/2
T
-

RAILING ANGLE DETAIL

L5x5x5/8

1“x7° SLOT IN BOTTOM

W6éx25 POST
L

.ﬁa. OF POST
1172 347167 11/27

"

=2 =
_ ;—Hsssxsxg ‘o = I / =

[
2
. L
DELINEATION DEVICE ©| |5 =
(PROVIDED BY OTHERS)| |®
o px
| " U
K CL OF 3/4"8 BOLTS WITH
Hssexext  of |2 HEX NUT AND SPRING SR ! =
I8 LOCK WASHER (TYP.) l
LSxSx@* RAIL .| e AP N
SUPPORT anGLE @ |7 | /
E L ,
z
o g o
HSS5x3x} W [T

BASE PLATE

g x10°x1~2*

N 7 1)1/ —DF
\15 x10°x1'—2 : : ”
§* FABRIC PAD & g
1

&¢ ROUND HEAD BOLT
W/ HEX NUT, WASHER AND
SPRING LOCK WASHER

&9 ROUND HEAD BOLT
W/ HEX NUT, WASHER AND
SPRING LOCK WASHER

SEE BASE PLATE &

ANCHOR PLATE DETAILS

FILL PLATE & THROUGH 10" ANCHOR PLATE
HSS 5x5 SPLICE TUBE N
CTYPICALY | [
101" |——CL BASE PLATE & ANCHOR PLATE
SEE PLAN FOR TURN RAILING SECTION RAILING _ELEVATION
BACK DISTANCE, SET
ANGLE ACCORDINGLY,
(THIS IS A DOUBLE
MITER CONNECTION>
W6x25
1729 \ I [
. ™
5 ® &:. & 1/8" SLOT
-
5/159 ~~ ©l 2
o @ — @ ROUND HEAD BOLT DETAIL
j ™
—1—2{>— 14x10°x1'-2"
v . BASE PLATE
2 10 2 HOLE FOR 19
7 | 7 ANCHOR STUD &
- CTYP> 8
= TYP.
TURN DOWN ANGLE SET BY
THE 9° MEASUREMENT AT BASE PLATE DETAIL
THE END OF THE BOX BEAM
SEE 3° RAIL BOX BEAM . .
ELEVATION ON STD S-364B &9 HOLES ©
ih *
’ 0
~N
S3x5.7
¢ X 3 LONG SLOTS il
£
S3x5.7\ J ’ ‘
TV\ | } 2 lli
5" ¢ HOLE T 172710~ T [72-10 > ||
Y | @ o= it ’ ’
..
k “l 2 / ’ l ~ / m ™
. i
© @ @ irx8x2'-0’ <87 x2/-0"
" SDIL PLATE ’ ‘ SOIL PLATE
i i
5 " o §x10°x1/-2* ~N YA
- "l’ - \BASE PLATE ST - > -
7 | — HOLE FOR 10 | ¥ <
Tion ANCHOR STUD
CTYP>
ANCHOR PLATE DETAIL 1172 1172

TRANSITION POST DETAIL 3’-8”

TRANSITION POST DETAIL 5°-3"

¢ OF Wéx9 POST
iﬁ
w1

i
:
SRR
1 \
<
« ¢ HOLE] ﬂ -
IN POST & REA _<T|~ )-{5
* 2% /
T =
) Iol / e 3
T
T T
by
&
HSS exe,x§< |
BLOCKOUT TUBE
Sl
-
W6x85 PDST\ i i o
"
ih
12 |
i "
Ml
T ‘ ‘
I~
" N
/ I
|
J'xB*x2'~0" NIHIZA
SDIL PLATE |
~ iH]
iV2
A
"

HEAVY POST DETAIL

T

— ¢ OF POST

|
&

8@ HOLES

SEE _NOTE 2

§'¢ HOLES
SEE NOTE 2

S3x5.7—\

T/ 2-10

2'-8"

5’x8’x21_0./

SOIL PLATE

1'-3"

|
{
[N {
|
|
|
{
|
|

on

TRANSITION POST DETAIL 7°-—

2°x2” CLIP ON BOTH
CORNERS PERMITTED
aTYP>

SEE ALL

NOTES ON SHEET
4 OF 5 FOR ADDITONAL INFORMATION

Vermont Agency of Transportation

RECEIVED

CcK'D BY KF/WL OK'D BY JS
January 2, 2014
REsuBmIT YES Rejected

BY KH DATE 1-17-2014

HIGHWAY SAFETY

GLASTONBURY, CT
860—-633-9445

CORP

BRIDGE RAIL DETAILS 525.335 & 621.725
TOWN OF BARNARD, COUNTY OF WINDSOR

VT ROUTE 12 — MAJOR COLLECTOR
BRIDGE NO. 25

A CERTIFIED)
<< FABRICATOR

PROJECT NO. ER BRF 0241(39) Hsc 403 No.
i [2es
e
% S AFAYETTE | 5 0f 5
DRAWN

CHECKED DATE SCALE'
RWL | | 11/20/13]

SIZE
vowe | b



jsalvatori
StructuresShopDrawing




